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4. Graph the following functions: k.
b= lxl4+2
y=lx|=2
y = |x| &2

y=|x|—4

A% 2, 48,74
d) Compare the graphs. If v = |x| + k, how does the value of k change the graph.

et \noX s The vave ok K makes the g ruph shi b up.on the _\-axis if ks positive
60! , The value of k. makes thegraph shift down on the ymaxs 1 £ Ieis negabive.

5. The vertex is the point where both of the lines meet in an absolute value graph. Itis the

maximum or minimum output of the graph. Graph the following functions and write down the
vertex point.
v=|x|+2 Vertex = 3
v=|x—3|+2 Vertex =
y=|lx—3]—4 Vertex =
y=lx+1|-6 Vertex =
vy=2lx+5 -1 Vertex =

(=R |

e) Compare each vertex to its original equation
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3. The vertex is the point where both of the lines meet in an absolute value graph. Itis the B
maximum or minimum output of the graph. Graph the following functions and write down the 1
vertex point.
y=|x|+2 slxt+ol 42 Vertex= (0;2')
vy=|x—-3|+2 Vertex = ( ’l) .
3 neca| pedles n.
= — — At =
lx —3| — 4 ertex (3 -
=|lx+1]—6 Vertex = (—I “L)
) x)= o[ X—h| +K
=2lx+5/-1 Vertex= (-5~ )
!
ex = (h, K)
e) Compare each vertex to its original equation IJQ. (h’ K
To Find the verkex simply -
look at The hand K. |
1 /ﬁ K=-]
Ex: y=|x+al =l Sovertx is (2 ) :
GEfas?{e. -
+dis— ;
So ~2=h 2
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